EEBER
M2013F12 831 H
(A HERETR )

RBEE
BEE&EE
- W - BN 44,063 44,408 = -
- EREREE 3,058 2,852 = -
- BB HEREE ANEE T hiES 2,001 2,038 = -
13 49,122 49,298 = -
RIERRMIRE 14 = - 59,056 47,063
B NRIER 15 36,354 32,535 = -
Bt N AR 16 8,257 8,976 = -
HEMIERB S E E 17 67 67 = -
BBITET A 24 283 646 = -
BRERIBE E 26(b) 42 86 = -
EERIKEHNEE 25(a) 618 217 = -
94,743 91,825 59,056 47,063
REBEE
FE 18 948 1,114 = -
JE LS BR 3 % L b UL SR IE 19 1,647 1,740 2 10
PRRHE R AR IGTUR 20 1 820 = -
ARERRTUR Bl AT 1SR 26(a) 4 7 = -
RITEFRIRE 21(a) 7,894 6,140 10 6,122
10,494 9,821 12 6,132
REaE
&R FR S B R 5 3R IE 22 (4,109) (3,760) (72) (56)
RITIBEX — EIKIF 21(a) (3) (6) = -
RITEFR R EMFTEEENRBES 23 (500) (5,311) = -
KERFEATIS R 26(a) (340) (333) = (3)
(4,952) (9,410) (72) (59)
REBEE/(BE)FHE 5,542 411 (60) 6,073
HWEEHRARBEE 100,285 92,236 58,996 53,136
FRBAE
RITERREMFEEE 23 (21,845) (19,282) = -
PBBLITET A 24 (549) (708) = -
XRES (1,900) (1,839) = -
FETHIEEE 26(b) (5,955) (5,911) = -
BERKEFEE 25(a) (559) (1,034) (117) (213)
(30,808) (28,774) (117) (213)
HERES 11(b) (3) (2) = -
EEBTES 11(a) (36) (425) = -
FEE 69,438 63,035 58,879 52,923
BERKEE
& A 27(c) 2,134 2,134 2,134 2,134
=] 67,304 60,901 56,745 50,789
AATRREGBES 69,438 63,035 58,879 52,923
R20145F2 A25 AEE S B RXETH -
T #a % HITEFE
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